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Warm Up-

Find the missing length indicated.
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In each triangle, M, N, and P are the midpoints of the sides. Name a segment parallel to the one
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Find the missing length indicated.
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Solve for x.
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Write the equation to find x. Then find the missing len h.
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Similar Right Triångles

AD is an altitude of ABAC. Name the three similar triangles.
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Solving Right Triangles
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SIMILAR TRIANGLE PROBLEM SOLVING
For sots e involving sintilnr grinnglcs by jubcjing ibe given diavøuj app;ytoz
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Aus: The lamppost is 15 feet tall.

@ A mirmr is 132 inches from a flagpole. If your height is 70
inches and you are 24 inches from the mirror, then how tall is
the nugpole?
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Ans: The flagpole is feet tall.

@ A mirror is 35 feet from a model iron tower. If your eye is 6
feet above the ground and you are 10 feet from the mirror, then
how tall is the tower?
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Ans: The model iron tower is al feet tall.

@ To estimate the width of a river, a surveyor places stakes on
locations labeled A, B, C, D and E. If DE is 9 feet, DC is 12 feet
and CB is 48 feet, then what is the width across the river?
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Ans: The width of the river is feet.

C) To estimate the width of a canyon, a park ranger places stakes

on locations labeled A, B, C, D and E. If DE is 12 yards, CE is

20 yards and CB is 30 yards, then what is the width across the

canyon?
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Ans: The width of the canyon is I g yards wide.



SIMILAR TRIANGLE PROBLEM SOLVING
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Ans: The sunbntlser is _2_S___ rect away fron•

surfers Iie on opposite ends of g 60 root coconot trce.
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Ans: Tbe right surfer is __fl(,)__ rect awny from (rec.

@ A 25 foot laddcr is 15 rect nwny from a building. A brace

extends from tl•c point where the building mects the ground to
the laddcr. llow long is the bracc?
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Ans: The brace is rcet long.


